Figure 6 - Supplementary Figure 1

a b c
0.3 ———————— 1 300
. =&~ correct pairings 1.2 0.9l
:g randomized pairings|f1 § gos}
= 02 =071
2 0 0.8 g = 80'7 200¢F
o o 5 ©0.6f
S 0.15 0629 ¢ @
= -~ onrc o
® 0.1 04 55 S04 3
= D =
8 0.05 02 2% §ogl 100f
8 0o £ 30.2}
8 0 =1 3
£ ~0.26 £01r
-0.05 S — oL~ i N
5 10 15 20 25 30 35 40 80 60 -40 20 0 20 40 60 80
length of randomization interval [um] length [um]
d e
0.15tmedian = 0.045 median = 0.045
median = 0.056 median = 0.058 -o-:engt:>1 -3um; ”=$166
. . = . : =
median = 0.064 median = 0.025 --|223Ihj46ﬂ’ nn_1793789
.. 0.1 0.2} i ' length>26.7pm; n=1051
= median =-0.009 —-length>45.7ym; n=59
3
o
o 005 L 01 "

0 0.5
correlation coefficient

-0.5 0
correlation coefficient

0.5 1

median=25.4 um
mean=23.4 um

20
interface length [um]

40



